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= 3,609
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Dl 28,070
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Al 10,000
MBI EXAE ZHIA 1,019,610 995,290 24,320
= 567,312
< 133,008
Al 319,290
MA=H KA 709,140 709, 140 0
= 567,312
< 70,914
Al 70,914
307 21201 A 709,140 709, 140 0
= 567,312
< 70,914
Al 70,914
11T MISAASEX 709,140 709, 140 0
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= M

H
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= M
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65,310
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7,809,229
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268,095
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= N H

268,095
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177,055

91,040

INE=W

N ENE

268,095,000& » 14|

268,095
268,095

177,055

91,040
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187,666
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= Hn
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= N H
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= N H
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230,400 200,400 30,000
161,280

13,824
Al 55,296

hn X

301 €EtE A= 230,400 200,400 30,000
Jl 161,280
13,824
Al 55,296

H

01 A28 H =0dl= 230,400 200,400 30,000
oggots 22 X  230,400,000& 14! 230,400
Il 161,280

= 13,824
Al 55,296

gg=scdlid 2NN 3,675 3,500 175
Il 2,573
220
Al 882

H

301 2EE A= 3,675 3,500 175
2,573
220
882

=z Hn Y

01 AR 2ZH =53 3,675 3,500 175
o=l 2K 3,675,000% 14 3,675
Il 2,573

220
882

= M

gedls Xa 16,200 21,600 A5,400
Jl 11,340

972
3,888

= M

301 LEE N F 16,200 21,600 25,400
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Jl 11,340
< 972
Al 3,888

01 MEI2BZE 05z 16,200 21,600 5,400
ogddlE K& 16,200,000 14 16,200
J| 11,340
< 972
Al 3,888

Z0iots dLAREXS 21,204 14,136 7,068
J| 14,843
< 1,272
Al 5,089

301 et Az 21,204 14,136 7,068
J| 14,843
< 1,272
Al 5,089

01 Mel28E 6= 21,204 14,136 7,068
Ol eots dEEXF 21,204,000 14 21,204
J| 14,843
< 1,272
Al 5,089

2 2A0ts JIIEXNEA 5,000 5,000 0
< 2,500
Al 2,500

301 et d s 5,000 5,000 0
< 2,500
Al 2,500

01 MEIEBEZE+05l= 5,000 5,000 0
Oge=dta XA 5,000,000& 14 5,000
< 2,500
Al 2,500

2Es Ot 188 25 23X 142,859 142,044 815
J| 57,144
< 17,143
Al 68,572

307 21201 A 142,859 142,044 815
J| 57,144
= 17,143
Al 68,572

10 ALSISXAIEEE2GHEX 142,859 142,044 815
OREs0s 088 25 142,859,000& 14 142,859
J| 57,144
< 17,143
Al 68,572

StiiOloliOls & H 299 154,770 132,215 22,555
J| 61,908
< 18,572
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Al 74,290
307 2iz2to| A 154,770 132,215 22,555
J| 61,908
= 18,572
Al 74,290
10 MM SAANEEHESIGHEX 154,770 132,215 22,555
Ostiinlolots 2 &9 154,770,000 14! 154,770
J| 61,908
& 18,572
Al 74,290
OIS Y¥SFAE 29 4,315,793 4,351,534 AN35,741
307 QI2t0| ™ 4,315,793 4,351,534 N35,741
10 Al SXNANEEHESIHEX 4,315,793 4,351,534 AN35,741
O0IsSU=EAIE 22| 4,315,793
> Ao 867,068,000 « 1Al 867,068
DA EER 878,290,000 » 1Al 878,290
DRAF0I=SHH 945,923,000 « 1Al 945,923
DASIFOIA 1,624,512,000& *14! 1,624,512
AMIEXNAE 29 OIS MDAIE XH) 4,800 4,800 0
= 960
Al 3,840
307 QI2t0| ™ 4,800 4,800 0
& 960
Al 3,840
11 A EXAIEEX 4,800 4,800 0
OMeISHADAIE XS (HOHALR)
4,800,000& * 1Al 4,800
o= 960
Al 3,840
B3S0ls MEotd I& 261,530 179,785 81,745
=} 58,306
Al 203,224
301 et A= 261,530 179,785 81,745
& 58,306
Al 203,224
01 M EXEE 452 61,530 179,785 81,745
OXNEH=EZ 108,000,000 =14l 108,000
= 21,600
Al 86,400
O=x=80 &yl 7,250,000 =14l 7,250
o=} 1,450
Al 5,800
OsgEngdl 86,280,000 = 14! 86,280
& 17,256
Al 69,024
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el Ot Y

- _ _ RE]
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OsMeo™2 60,000,000 x 1Al 60,000
=} 18,000
Al 42,000
I8 AEOS &=H A& 233,280 233,280 0
301 et A= 233,280 233,280 0
01 Al B & A 462 233,280 233,280 0
OIIERKES $=H| 120,000 x16221 x 12& 233,280
AEAEHINE XS 2,880 2,880 0
301 et A= 2,880 2,880 0
01 M EXE 2562 2,880 2,880 0
OaxdAHIIE X& 120,000 %221 1204 & 2,880
2350ts K& 13,460 10,100 3,360
201 Yet2 b 4,760 1,400 3,360
01 At2 2l 4,760 1,400 3,360
O3 g+ 4,760
DXE0IsHEH /]S B
70,000& x10Q1 x23] 1,400
> OIS B4 Mol FHLY
70,000& x1021 x23] 1,400
>OIS =K Aol FHLY
70,000& 721 %4 3] 1,960
301 et A= 8,700 8,700 0
11 JIEIE A= 8,700 8,700 0
OOS=EXAM NEHY(S)a dgay
1,000,000 x 14! 1,000
ORESOIsSAL MIjotAd HH =42
55,000& =140l CH 7,700
Olsold ESs A 15,720 0 15,720
201 LBt 15,000 0 15,000
01 AP 22| H| 2,000 0 2,000
O1 YeragH| 2,000
POotssttiule =222 ME
2,000,000 =14l 2,000
03 #AI2 I 13,000 0 13,000
OstjIlciols JIEXE BE
13,000,000 = 1Al 13,000
301 et A= 720 0 720
11 J|EtE A S 720 0 720
OOSYSAL AAI5H FE2Y
30,000 401 x63] 720
MAE Ol XL 12,760 11,320 1,440
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 5,760 4,320 1,440
01 = LH 4 Hl 5,760 4,320 1,440
oootsg=e =2 480,000& x12& 5,760
301 et A= 6,000 6,000 0
MIIEEES3 6,000 6,000 0
Oltss4al & ¢4dXZ0 &=l
6,000,000 » 14! 6,000
307 glz2+0ol & 1,000 1,000 0
01 22724l 1,000 1,000 0
OO0tss4A ZelSAA A2 & &l
50,000& 2021 *13] 1,000
Ots=XwAt K& 348,530 376,320 A27,790
= 174,265
= 34,853
Al 139,412
101 @124 dl 348,530 376,320 A27,790
= 174,265
= 34,853
Al 139,412
04 D122 2XREE S 348,530 376,320 A27,790
OO0ts=X WA XI& 348,530
>olEs 970,000& x2401x12& 279,360
= 139,680
= 27,936
Al 111,744
DAY B2 100,000 & 2401« 12& 28,800
= 14,400
< 2,880
Al 11,520
>EAZ 40,370,000& =14 40,370
= 20,185
< 4,037
Al 16,148
ots24 XA (EIIE) 494,000 627,000 A 133,000
= 494,000
301 et d=s 444,600 575,300 A 130,700
< 444,600
01 MI2EZE+5l= 444,600 575,300 A 130,700
O0t=s= A MUIIE(EHIIE)
444,600,000 » 14! 444,600
< 444,600
307 glz2tol & 49,400 51,700 A 2,300
< 49,400
11T M SXAISE EX 49,400 51,700 A 2,300
O Al E 49,400,000& =14 49,400




M 0{EIIED
HE: HUNUE OS2E
S oSS EERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 49,400
Ots24 XA (LEx) 510,000 698,530 A 188,530
< 102,000
Al 408,000
301 gtE L= 465,800 640,230 A 174,430
< 93,160
Al 372,640
01 MI2EZE 6= 465,800 640,230 A 174,430
O0tsS= A EXNME(EEIHE)
465,800,000 =14 465,800
S 93,160
Al 372,640
307 gl2tol & 44,200 58,300 A 14,100
< 8,840
Al 35,360
11T M SXAISE EX 44,200 58,300 A 14,100
O Al EEHE 44,200,000 =14 44,200
< 8,840
Al 35,360
Ols2A NA(ZASHYE |FHl) 5,600 5,600 0
< 1,120
Al 4,480
307 glz2tol & 5,600 5,600 0
< 1,120
Al 4,480
11 M= XALS 5,600 5,600 0
OZA0lE B4 A HE B
5,600,000 » 14! 5,600
= 1,120
Al 4,480
Ols SAXA(SA) 634,000 576,000 58,000
307 izl & 634,000 576,000 58,000
11T MIEXASEEX 634,000 576,000 58,000
OO0ts=AHI (44 4,000% *634021 250 634,000
OHsS=XAE JIs2S 8,000 0 8,000
401 A& HIZ 201 8] 8,000 0 8,000
01 A& HI 8,000 0 8,000
OXgots4dH JIsE 8,000,000& =14 8,000
OlSSXAIE JIsEZ(ZHEY) 46,856 0 46,856
J| 23,428
< 7,028
Al 16,400
402 QIZEXtE0| A 46,856 0 46,856
J| 23,428
= 7,028
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OOtS4+g BE x|
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= H H
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5,620
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= W
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= H W
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Sl oSN EERED
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 10,000 10,000 0
02 QIZHA AAIE E X 10,000 10,000 0
ORES0ls 23t 10,000,000 « 1Al 10,000
Helo] 2&X S AF 80,000 70,000 10,000
307 2izto| A 80,000 70,000 10,000
04 QIZ2tSHALALS B X 80,000 70,000 10,000
OXeloI2& X ALK 80,000,000& = 14! 80,000
FFOSFANHAEY A 20,000 10,000 10,000
= 10,000
Al 10,000
307 QI2t0| ™ 20,000 10,000 10,000
& 10,000
Al 10,000
04 CIZ2tSHALALS B = 20,000 10,000 10,000
OOSFAEHAEY 20,000,000 x 14! 20,000
& 10,000
Al 10,000
XNYE0tSHEH 29 2,470,694 2,137,935 332,759
= 974,778
= 264,558
Al 1,231,358
XNEotsHdEH 29 A3 1,772,400 1,464,204 308, 196
= 886,200
== 177,240
Al 708,960
307 2Iz2t0| & 1,772,400 1,464,204 308, 196
= 886,200
= 177,240
Al 708,960
10 M SXNANEEHESIGHEX 1,772,400 1,464,204 308, 196
OX<EotsHdy 29 X
1,772,400,000& =14l 1,772,400
= 886,200
= 177,240
Al 708,960
NEotsHEH E38Y NS 80,388 100,920 N 20,532
= 40,194
= 8,039
Al 32,155
307 2Iz2t0| A 80,388 100,920 N 20,532
= 40,194
& 8,039
Al 32,155
11 A EXAIEEX 80,388 100,920 N 20,532
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= M W
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= M W
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= N W
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=z N H
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74,880

37,440
7,488
29,952

74,880

271,500

54,300
217,200

319,045

NA4T7,545

307 21201 A

H

Al

271,500

54,300
217,200

319,045

NA4T7,545

B HT

10 A SXAEHE2SH
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 9,000
Al 36,000
11T M SXASEX 45,000 45,000 0
OXgotsdH sA=<0l XN&
45,000,000& =14 45,000
< 9,000
Al 36,000
NSotsdH 2SR 2 (XA ) 183,632 133,040 50,592
307 glz2tol & 183,632 133,040 50,592
04 QIZFHALALH 2 = 14,000 0 14,000
OXNAOISHE ZAT A2Ls 23S
5,000,000 =14l 5,000
OZEXNY OtsSHE =HME0tE e 4
5,000,000& =14l 5,000
OXlgots4dH otsstote =H
4,000,000& =14 4,000
11T M SXAISE EX 169,632 133,040 36,592
OO0tsSASAMR X 456,000& x3121«12& 169,632
ANEotsdEH 0 FAHS WA X 21,006 21,006 0
< 6,302
Al 14,704
307 21201 A 21,006 21,006 0
< 6,302
Al 14,704
A2 S XA &2 & 21,006 21,006 0
OXY0tsdE AHUSAHLA XA
21,006,000 » 14! 21,006
< 6,302
Al 14,704
Ots S Ml A 649,400 534,000 115,400
= 349,400
< 90,000
Al 210,000
We start Ot 22 300,000 300,000 0
< 90,000
Al 210,000
307 glz2tol & 300,000 300,000 0
< 90,000
Al 210,000
11T MISXASER 300,000 300,000 0
OWe start Ot A& XI& 300,000,000 141 300,000
< 90,000
Al 210,000
EYAEE SgAd2el XA 349,400 205,200 144,200
= 349,400




o MR
0 Jo 0x
o =2 2
o Off JH

_n_o_,_

g
o

!

CHB . SRA(SA) - ATAY - BES il
2 EH2 | 228,900 37,800
= 228,900
01 AF2 22l bl 20,000 20,000
O1 Let==EH| 16,500
PAREE & E22 5 7¥
16,500,000 * 14! 16,500
= 16,500
O2 A= W=l 1,500
DeENs2H ZH S 1,500,000 =14l 1,500
= 1,500
03 2g+g 2,000
PRUSINE U LHHAE S ALY
2,000,000 =14 2,000
= 2,000
S22 6,500 6,500
O1 3323 ¥ HMA 4,500
PEBR2 ¥ BEE S 4,500,0008 %14 4,500
2 4,500
O3 A& & Hl |Xibl 1,000
DEHAHE MMALEH S22
1,000,000 =14l 1,000
= 1,000
O4 X2 el 1,000
DIAEFFH E FAE
1,000,000& * 14! 1,000
= 1,000
03 AH2 S HI 202,400 11,300
OEEAEE #A2dHI 202,400,000& =14 202,400
= 202,400
04l 7,800 7,800
= 7,800
01 SLHOYI 7,800 7,800
OEEAEE gRFA 150,000 «32!x12& 5,400
= 5,400
OEYAERE /34 ¥ WEWYI
100, 000& »32! %82 2,400
= 2,400
AP A= 101,700 64,200
= 101,700
01 M2 X 03 100,000 60,000
OLEZAEE HHots sts NE S
100,000,000& 14! 100,000
= 100,000
A HI B &= 500 3,000
OSYAEIEHAN &DIA = &H 2 WSl
500, 0003 » 14 500
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g HAAS OtsES
& OtsSEAMHIA (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 500
NJIEEd=s 1,200 1,200 0
OEEHAEE RNJASAX &Sl
1,200, 000& 14 1,200
= 1,200
307 glz2tol & 11,000 9,000 2,000
= 11,000
01 2222l 11,000 9,000 2,000
OEHAEIEAY 22 & A XE
11,000, 000& * 14! 11,000
= 11,000
dadEs 2 g4 2,064,614 3,886,606 A 1,821,992
= 38,000
J| 528,222
< 8,580
Al 1,489,812
d8s F@ad=sd 2,064,614 3,886,606 A 1,821,992
= 38,000
Jl| 528,222
< 8,580
Al 1,489,812
HAEXEA B XX & 88,740 65,280 23,460
J| 44,370
Al 44,370
307 gl2tol & 88,740 65,280 23,460
J| 44,370
Al 44,370
11T M SXAISE EX 88,740 65,280 23,460
O338Ad HALEX T A BHX
88,740,000& » 14 88,740
J| 44,370
Al 44,370
SSTEANE Z208 2Y9 10,000 10,000 0
J| 5,000
Al 5,000
307 21201 A 10,000 10,000 0
J| 5,000
Al 5,000
11T AL SXAEE X 10,000 10,000 0
OZ3sEad=sdAE T2 2SI
10,000, 000& * 14 10,000
J| 5,000
Al 5,000
Fa24E HS2E0E XA 24,000 27,750 A 3,750
= 9,600
= 2,400
Al 12,000
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307 21201 & 24,000 27,750 A3,750
9,600
2,400
12,000

= N H

A S XA E X 24,000 27,750 A3,750
OFAE H=30te X 24,000,000& » 14! 24,000
9,600

2,400
12,000

= HmnH

FadEsotel XA 25,000 25,000 0
10,000
2,500
12,500

= Hn W

307 glztol & 25,000 25,000 0
10,000
2,500
12,500

= Hn W

1A SXAIE E = 25,000 25,000 0
O8AES0tel A& 25,000,000 =14l 25,000
10,000

2,500
12,500

= M W

ASHEAEFHI2 2 2,800 2,800 0
Jl 1,400
Al 1,400

307 21201 & 2,800 2,800 0
Jl 1,400
Al 1,400

11T M SXAISE EX 2,800 2,800 0

OXEEaE H0II7 2 2,800,000& 14! 2,800
Il 1,400
Al 1,400

=dds 29 6,000 6,000 0
Il 3,000
Al 3,000

307 21201 & 6,000 6,000 0
Il 3,000
Al 3,000

A S XA E = 6,000 6,000 0

OBZ+EANE BaU2YY

0
o o

00 14 6,000
Jl 3,000
Al 3,000

ANAMe ELHSEXNEHA 7= 92,300 90, 100 2,200
Il 46,150
Al 46,150




SN OEIED
Ll

HY: HAEE5 U S
el AME HAUSY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 92,300 90, 100 2,200
9] 46,150
Al 46,150
11T A EXAIEEX 92,300 90, 100 2,200
OXNAAME HAEUESSNIAH 25
92,300,000 = 14! 92,300
p] 46,150
Al 46,150
sty g HAE X 119,000 117,000 2,000
J| 83,300
Al 35,700
307 2Iz2t0| & 119,000 117,000 2,000
Jl 83,300
Al 35,700
11T AISIEXAIE EX 119,000 117,000 2,000
Ostn g #3444 XA 119,000,000 = 14! 119,000
J| 83,300
Al 35,700
HAUSHI T2 29 119,468 116,640 2,828
J| 59,734
Al 59,734
307 giztol A 119,468 116,640 2,828
J| 59,734
Al 59,734
11T AISIEXAIEEX 119,468 116,640 2,828
OFAE S E20d 29
119,468,000 « 14! 119,468
J| 59,734
Al 59,734
HAYE S2S4dH &9 148,068 142,540 5,528
J| 74,034
Al 74,034
307 2iztol A 148,068 142,540 5,528
J| 74,034
Al 74,034
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